Sascoc in dog box over SA's Olympics team kit

Sascoc has been criticised because the South African Olympic and Paralympic Games teams' kit has not been produced by a local manufacturer.

The South African Sports Confederation and Olympic Committee (Sascoc) was criticised on Thursday because the South African Olympic and Paralympic Games teams’ kit was not produced by a local manufacturer.

The kit, which would serve the teams for both the London games later this year and the Olympics of 2016 to be held in Rio de Janeiro, is produced by Chinese manufacturer Erke, according to a Sascoc press statement released on Wednesday.

South African Clothing and Textile Workers’ Union (Sactwu) spokesperson Andre Kriel condemned Sascoc’s choice of a foreign supplier over local industry.

“It is important for our country’s national pride that local manufacturers be promoted in the supply of attire to our national sporting teams. More importantly, it is crucial that local manufacturing be encouraged to help with local job creation.”

Sascoc president Gideon Sam defended the decision, saying Erke had provided a sponsorship valued around $4-million (R33 329 000) and that no South African company was willing to take up the sponsorship.

“In 2009, when we were looking for sponsorship, it was coming up to the Fifa World Cup and everyone [local business] said they had their money tied up.  “We could not stand back, we had to put our feelers out wider.”

Erke’s offer of sponsorship went hand-in-hand with the manufacture of the kits, Sam said.

But Proudly South African “buy local” campaign chief executive Leslie Sedibe said this was no excuse for failing to support local industry.

“The excuse of lack of funding given by Sascoc raises a number of questions: if the Chinese have enough national pride to have a Chinese company, Erke, make their national kit, why can we not support our local clothing manufacturers?

“Why let Erke manufacture the South African kit?  Yes, Erke sponsors Sascoc, but they [Sascoc] have also received funding from the department of sport and the Lotto, among others,” Sedibe said.  He said it was a “mockery and an insult” to efforts for the promotion of local goods and services.

In the last two years, Proudly South African met three times with Sam, and had received assurances that Sascoc would encourage their registered sports federations to support local manufacturers of sporting equipment and clothing.

The Congress of South African Trade Unions (Cosatu) was outraged at Sascoc’s “total lack of patriotism”, saying the Olympics should be a platform to exhibit the very best of each country’s products.  “Yet, thanks to [Sascoc], our teams will now be promoting the best of Chinese clothing,” spokesperson Patrick Craven said in a statement.

The use of the Chinese-made kits was also anathema to the local procurement accord, signed last year by government, business, organised labour and community constituencies. The accord was aimed at promoting local procurement to boost employment.
“Cosatu demands that the deal with Erke be cancelled and the contracts for the kit be given to Proudly South African companies, so that the athletes can wear them with real pride,” Craven said.—Sapa
http://mg.co.za/article/2012-04-05-sascoc-in-the-dogs-box-over-olympics-kit - Accessed 19 September 2012.
SECTION A

QUESTION 1











(10)
Choose the most correct option by circling the letter of your response.
1.1 One aspect of Marketing that Erke needs to pay attention to is…
A
Promotion

B
Packaging

C
Profit

D
People

1.2 This type of product used in the manufacturing of other goods.

A
Convenience Goods

B
Speciality Goods

C
Industrial Goods

D
Raw Goods

1.3 This is the stage of Brand acceptance where the consumer will ask for a specific brand but if not available, he will settle for another brand.
A
Brand recognition

B
Brand preference

C
Brand insistence

D
Brand demand

1.4 Which of the following would constitute unethical advertising behaviour?

A
Giving products a name similar to a competitor

B
Advertising your product as the best

C
Advertising using all media available

D
Creating a false want in the consumer

1.5 Delegation means…

A
The transfer of authority

B
The day to day tasks of an employee

C
The number of workers under the managers control

D
The right given to a person to make decisions
QUESTION 2











(10)
The following statements are FALSE.  Correct the word / words that are underlined.
2.1
Erke would have to ensure that they pay attention to the basic requirements of good advertising, by following AIDA.


___________________________________________________________________________

2.2
Should Erke acquire ALL Textile factories in the country, they would have a form of market known as Monopoly.


__________________________________________________________________________
2.3
The Project organisational structure makes use of Agents.

___________________________________________________________________________
2.4
There are four major asset classes, namely Cash, Property, Bonds and Shares.


___________________________________________________________________________
2.5
A staff member that if left brain orientated will like order, colour, numerical and linear data and be creative.

___________________________________________________________________________

___________________________________________________________________________
SECTION B
QUESTION 3











(40)
1.1 In selecting the best staff for Erke, the Human Resources manager, Mr Khanye, would look to ensure that he employs the correct staff, based on their ability to be trained and the way they deal with stress.

With this in mind, explain briefly the two types of personalities, and with each type, indicate which cause of stress would most likely have an impact on them.

(8)

___________________________________________________________________________
___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________
___________________________________________________________________________
___________________________________________________________________________

__________________________________________________________________________

1.2 The CEO of Erke has agreed to allow ALL staff an extra weeks’ leave due to an excellent performance.  Explain what methods of communicating this information exist, and then identify, with reasons, which would be the best option.



(8)
___________________________________________________________________________
___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

3.3
Design an organisational structure for Mr Khanye that he could use in his factory to indicate to staff who the various staff members would report to.  You will need to include the owner, four department managers, supervisors and workers.  Each department would have their own supervisor.





(5)
3.4
After testing staff, Mr Khanye has heard that some of his staff would like to learn how to use new technology in various ways.  Explain to him the three ways in which different people learn.










(6)

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

3.5
Draw a diagram that would represent the product life cycle of a new type of sporting fabric used in athletes’ clothing developed by Erke.




(7)

3.6
Show, using a diagram, how the Break Even Point would be calculated and / or displayed using the following figures:


Sales for 260 000 Shirts is R31 200 000

Fixed costs amount to R260 000


Variable Costs amount to R550 000 after manufacturing 40 000 units.

(6)
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